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g
= 1 77,807, 793
JE T
= 1 462, 364
P T
= 1 462, 364
B 1, 500m3
= 1 114, 170
TRV IE AR +w Cast- EREY +ET) 1, 500m3
Ry 0 0
TRV IE AR +w Cast- EREY +ET) 980m3
= 1 348, 194
RCAG ) T
= 1 57, 946, 213
EE LT
= 1 619, 997
PRAE D b 400m3
Ry 0 0
PRAE D b 370m3
= 1 149, 739
MEL +wb 230m3
= 1 278, 240
LR E 60m2
= 1 24, 312
FEIA (V-27) b 180m3
= 1 39, 798
T RS IE AR +w Cast- EREY +ET) 360m3
= 1 127, 908
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LTI L
= 1 43, 567, 809
ST FIAL 30-18-25BB  C=350 Hifk 1500
m FiE (&) 55m
VN 0 6,964, 963 0
ST I 30-18-25BB  C=350 Hift 1500
m PifE G%EHE) 55m
VN 6 6,999, 100 41, 994, 600
FEIA (V-27) b 600m3
= 1 132, 600
A () -hik 14m3
= 1 14, 994
Prau kil V) )= hik (BEH%)
m3 14 1,424 19, 936
LGy V) )= hik (BEH%)
m3 14 4, 381 61, 334
1Sy & KRR
m3 57 23, 585 1, 344, 345
R (A T (5 4 BLAT)
= 1 13, 758, 407
TG 5mA b 10moRdi# 100m3 LA _E300m3
% 30-12-40BB W/C=50%
m3 242 35, 845 8, 674, 490
ERAR SD345 D16~25
t 9.63 177, 876 1,712,945
ERAR SD345 D29~32
t 8.16 178,901 1, 459, 832
A SD345 D35
t 8.57 181, 791 1, 557, 948
ERAR SD345 D294 D29
(b AEHE)
T 20 908 18, 160
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ERAR SD345 D324D32
(b AEHE)
& T 37 1, 059 39, 183
ERAR SD345 D35+D35
(b AEHE)
& T 17 1, 560 26, 520
B Bk AT D19 L=2m
& T 400 382. 2 152, 880
B Bk AT D19 2m<L=4m
&0 165 470.7 77, 665
B Bk AT D19 4m<L=6m
&0 52 573.3 29, 811
i T A ¢ 250 9
= 1 8,973
WA B 1L
= 1 140, 212
AL
= 1 140, 212
FAR B FRA 500X500X8  F
mm
e 1 140, 212 140, 212
Pk A iE ) T
= 1 65, 508
LI
= 1 65, 508
7" VA NURLRI T BF- 1 -B300-L2000
m 12 5, 459 65, 508
SN
= 1 19, 193, 496
Se AR R T
= 1 2, 247, 797
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it DS 25kN/m2 v/ PSR EEA (— A% HRES
) S BGEES. 8m
m3 413 5, 089 2,101, 757
TEAM B A F K E
= 1 146, 040
THAERK T
= 1 2,457, 535
L TEALER TOkN/m2 JEAJE0. 6m 4. 2t/100m2
AV MEER (—RE5 1)
m2 0 1, 280 0
B
m3 190 1,468 278, 920
LI§73
m2 0 1,837 0
BRI 22X 1524 X 6096 & & - ik
m2 1,124 1,678 1, 886, 072
FERAR 22X 1524 X 6096 %
m2 492 594. 6 292, 543
B R B T
= 1 10, 515, 466
e IR SEYgRRMR S 12m #K
WATIAE 11.5m ALK
£ 11.5m
# 0 41, 560 0
e IR SEYgRRME S 11m #K
WATIAE 10.5m ALK
£ 10.5m
# 102 44, 307 4,519, 314
SHRAR VAL SEEERARE & 14m %K
WATIAE 13.5m ALK
£ 13.5m
# 0 53, 241 0
e IV SEERIRE S 14m HR
WATIAE 13.5m ALK
£ 13.5m
# 5 59, 005 295, 025
W FE LA B | PR - i fA 26
= 1 151, 734
-4 - Efzimd ket 7 & 5




N 2

it

£

THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
Bk fEk L
t 0 76, 399 0
Bk fEk L
t 11. 76, 043 889, 703
A PR IR IR TR Tk
= 1 4, 659, 690
KET
= 1 3, 578, 600
w7 Pk 024 _E40 (m3/h) A
Ry 0 0
w7 Pk 024 _E40 (m3/h) A
= 1 3, 578, 600
VESEY-1 i T
= 1 58, 050
=1 IR
m3 0 2,418 0
=1 IR
m3 50 1,161 58, 050
RImE T
= 1 336, 048
AR B
= 1 336, 048
B L
= 1 77,807, 793
BTl TE:
= 1 19, 799, 327
BTl TE:
= 1 11, 349, 115
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TR
= 1 9, 536, 804
R A Y
Ry 0 0
8= 500 70 o (4 TRVA [ 1pe 3]
= 1 6,362, 718
IR T
Ry 0 0
IR T
= 1 3, 174, 086
Htre m
= 1 1,031, 732
T MR B RERLE
= 1 51, 554
IR E
= 1 181, 790
A7 b R
= 1 6, 805
it T
= 1 15, 667
L S T AT B
= 1 775,916
BUGERRYCEE (5 1)
= 1 780, 579
HimE R (FE L)
= 1 8, 450, 212
Wi
= 1 97, 607, 120
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BTk X=giiv
= 1 29, 024, 116
R 5]
= 1 126, 631, 236
— R
= 1 20, 718, 764
Tk
= 1 147, 350, 000
THE B 2 %8
= 1 14, 735, 000
TG
= 1 162, 085, 000
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